


A8 A A

= 0

M =

!

EHal A oot

k

=d

il

A
Jut]

O

2025

[}
K

Ok
oJ

0H R0 RO
oJ %0 w0

S 3 3 2188 e 318 S
o o o S| oS S
A |8 3 8 T G ”
Klo
E
-
N S S IS8 5 FSS <
()] () O MOOZ (<o) DO |O
N g g ©O |0 (o . gle|e
H3r | = . .
uijd!
RIS
S 8 B8 88T BNEIFIS S8 S S S S S8 S 5 mw SIS S ] S S & s 8 8
NS d S|8N |l oSS & 5 5 5 5 S &% |djSle & & 5 & &5 S
dedglgnggg=l=sls ~ - - - - - - ogeo I
3 | o
<
S
oW fir o
wm < £ g 4 A g R g
oW ow w o omo@m s TR
4] S S 718 S S o of S S oF O S
L g & 8%¥8 8 8 § & g s 8 8 % &g
) > > oF 8
m g 8 88 8 & & 3 g 8 & &z g S
. = SWw- = = o s S > =
ol S 3
ol 0
W_AT = —~
s o 5
o a0 mm
- Ko o
= 3 =
ol o °
= Q¥ 2
o H0 —|= =< — —|= < _
o) = mi A o) &0 80 | w &0
o - 3; il
= <) L _@, 0p wm 0H | 7D ul 0p
70 ) - 9z |ok o &0 o) | OF [l [0
R m z <|an|= o) £0) zo ol [= o) o
. 0H %0 ls|s © & ® |z | © &
X %0 B0 Ko [ w |
Jij S w0 ﬂ = al
or o.
al

- 231 -




SH BRI
M DA 2o
el RRHIMEIA NS CEERED
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
203 A =AY| 3,000 2,000 1,000
03 Al =TH 22| 3,000 2,000 1,000
oulFdy AFFA 3,000,000& * 14| 3,000
303 Z&= 5,000 5,000
01 Zo= 5,000 5,000
O3l DrLEIXl K=t Alat
1,500,000& *22] 3,000
OTEBSRE 2 2,000,000& *12 2,000
308 MAIHHMSOIA 19,660 17,860 1,800
13 SIS0 U S E & H2AS AL 19,660 17,860 1,800
OXMT FUSEFZALE RA2=H|
19,660,000& *14] 19,660
405 KHaHF =4 55,500 9,000 46,500
01 MMM =SS F S| 55,500 9,000 46,500
ORoUALZI| wH 7
25,000,000 =2CH 50,000
OXXOI0IX AR WA 7
500,000& %111 5,500
St g5 29 49,336 39,336 10,000
201 Ler=3h| 49,336 39,336 10,000
02 E&5=23H| 49,336 39,336 10,000
osSgsg3Yall FAES
71,5002 +1200 <123 10,296
ORUUAUZI| FA2=+
145,000 1201~ 123 20,880
OB HIAY ST 24
110,000 < 12& 1,320
OofelelAYZI| gad0l=
10,000,000 141 10,000
ORALUZI| ARHEE=
190,000 =30+ 123 6,840
HEZHSEAF XA 14,319 15,897 N1,578
= 14,319
201 e+ | 10,719 12,417 1,698
= 10,719
01 AFR2t2lHl 10,719 12,417 21,698
OJIE2H SEMR A28 FY
10,719,000 %14 10,719
= 10,719
202 04l 3,600 3,480 120
= 3,600
01 2 Al 3,600 3,480 120
QIIEZH SENT 2F
600,000 +6H S 3,600
= 3,600
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thelr =XoHgate EERE)
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
01 =W Al 3,000 4,500 1,500
OMLHSIB BYBHOY|
20,0002 *32*302 1,800
OsANEESF HEEF0H
20,0003 x2E *302] 1,200
&EXI 2tel 119,700 16,200 103,500
= 62,000
== 13,950
i 43,750
WONI = 11,200 16,200 /5,000
ahg Rl 2e| 11,200 16,200 5,000
202 O4d| 1,200 1,800 AB00
01 =W Abl 1,200 1,800 AB00
OMAEEK HE8EE 0l
20,0002 *3H *202 1,200
207 A0 2| 10,000 10,000
02 M &DHEH] 10,000 10,000
O&XI7=2 KLIP ST E4
10,000,000& * 14! 10,000
ATard S Mol M A 108,500 0 108,500
= 62,000
& 13,950
= 32,550
Aot SHUloh MB A 108,500 0 108,500
= 62,000
= 13,950
z 32,550
307 21240l & 108,500 0 108,500
= 62,000
= 13,950
= 32,550
02 2IHB YA E R 108,500 0 108,500
OATHMFIISY St Lol MZAY
108,500,000& * 14| 108,500
= 62,000
= 13,950
= 32,550
A=y Jlgrdst 1,661,779 1,445,092 216,687
= 61,472
S 6,000
o 1,594,307
INESRLG] 54,476 86.076 31,600
EXISE & 11,676 12,576 900
201 Let2 | 9,876 9,876 0
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SAM: olJtelE A
g3 &gy otz et
el XIE 2 EER=E)
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
01 AFR2t2|HI 9,876 9.876 0
OSSARBI(ZREN) EXFR
300,000 152 X| 4,500
OXNHEFLFEH|
30,0002 <1002 Al 3,000
OYFFRIUS =AD| A=
198,000& « 1200 & 2,376
202 04l 1,800 2,700 A900
01 =W Al 1,800 2,700 A900
OXNHYF SHAIZAL 0]
10,0002 *32 +602 1,800
NE=EI|=E 2l 42,800 73,500 230,700
201 Bt=2dh| 21,800 51,800 30,000
01 AFR2t2|H] 21,800 51,800 30,000
OXNR=ZIIEE Q&
20,000,000& 14! 20,000
OEXOISZEAA BtoIH 7
60,0002 ~30& 1,800
308 MAIHHSOIH 21,000 21,000 0
18 SIS0 etE & 2AS ALY 21,000 21,000 0
OXAI|IEE LRHZEAL A
12,0002 *1,7508 21,000
ANHEE 2tel 175,549 209,267 N33,718
= 38,500
[ 137,049
HESAIXIIOL ZAH 2 77,000 77,000 0
= 38,500
= 38,500
201 €eH=dh| 76,000 76,000 0
= 38,000
o 38,000
01 At=2telt] 76,000 76,000 0
QHESARDIt BE==2
45,8003 *102,807Z XI*1.4% 65,920
= 32,960
[ 32,960
ORSLIIABAAAR g
70,0003 *11E*43 3,080
= 1,540
= 1,540
OSAIRIL &% 23|
3.,000,000& * 14| 3,000
= 1,500
s 1,500
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&2l XNEEE 2l (crol: &2l
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
OSAIXIL 28 & 0124E &2
4,000,000 *14] 4,000
= 2,000
[ 2,000
202 Od| 1,000 1,000 0
= 500
= 500
01 =W Hbl 1,000 1,000 0
ONESAIXIt EXISEEA
20,0003 * 18 +502] 1,000
= 500
[ 500
ANEEE 29 2 86,549 112,267 N25,718
201 2et2H| 64,849 75,997 A11,148
01 AtR2t2ld] 2,850 2,850 0
OXZ?2z &4 =&
70,0003 +38*12] 210
OYRFIS SAD| Atz
220,000~ 1294 2,640
02 324l 61,999 73,147 A11,148
OXXTH SHAAH RAES
66,0002 +7CH* 122 5,544
ORSUSESRALE RIS+
54,559,000& x14] 54,559
ONHANL g=2e5)| RA2+
158,000 < 12& 1,8%
202 04l 1,200 1,200
01 =W Al 1,200 1,200 0
OA &0l 100,000& «1& #43] 400
o= H S5 & HITAM
20,0002 x2H+203] 800
207 A0 | 19,500 22,000 N2,500
02 & ADHEHI 19,500 22,000 2,500
OS2ANFRIIF=2 Mditegt =
19,500,000 %14 19,500
303 Zat= 1,000 1,000
01 2= 1,000 1,000
OFSAHHNA D oz
500,000 24 1,000
== 21 29 12,000 20,000 8,000
201 et | 12,000 20,000 /8,000
01 AFR22|Hl 12,000 20,000 28,000
QRIIEQESE +42
1,000,000 *7A4 7,000
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SAM: olJtelE A
g3 &gy otz et
=l NEEE 22 EEREE)
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
OZBZANEXI HE =2
50,0002 «1002 Xl 5,000
M==AY =& 120,282 127,174 6,892
= 6,000
= 114,282
C2Y g AEdS 28 114,282 127,174 A12,892
201 €er=dy| 2,780 2,780 0
01 AFR2t2lbl 560 560 0
OSRIFAAAS BaMLY
70,0002 «8E *13] 560
02 85=24H| 2,220 2,220 0
O HFA YA HEDY| SH=
20,0002 *3CH* 122 720
oRuEEs 2= 125,000 <123 1,500
308 AXIHHISOIE 61,502 74,3% N12,892
18 SIS0 et & HAS AL 61,502 74,394 N12,892
OFAZEACANAY AU 75 & =X
2 47,520,000+ 14 47,520
OgHl=A 75 & FAg2) |2 RA2
c 13,982,000 *14] 13,982
401 A2 HIL 2 0HE 50,000 50,000
01 Al2H] 50,000 50,000
O=F=2dEANE X & RAES
20,000,000 14 20,000
OFALZEANE LA B4
30,000,000 «14 30,000
L2 Y ASHSEE 6,000 0 6,000
== 6,000
401 AlE2HIL 20| 6,000 0 6,000
= 6,000
01 Al2H] 6,000 0 6,000
OFLdEANE &5 & 3y
6.,000,000& 6,000
== 6,000
SUHEE MY F=d 599,140 768,120 168,980
KNStAIEE TA&tS At 56,140 64,120 AT7,980
201 e+=gh| 55,820 41,800 14,020
02 3523t 55,820 41,800 14,020
OSUHEESE2ACIANAY SR E2
42,500,000« 14 42,500
OXNGHAIESEEAAYE SN2+
13,320,000 * 141 13,320
202 4Bl 320 320
01 =W Al 320 320
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BRI
3 ANy Jerdat
Pl SAFE A =4 (EH9 M)
SA - BB GA(S) - HRAY - BaS ofl e T imEE
OXIStAIE= Hatst & AL
20,0002 x2E»8 320
C2 Y XGHAIZES MAta BHAPAIY(H) 543,000 704,000 161,000
207 A1 543,000 704,000 161,000
02 &AHEH] 543,000 704,000 A161,000
OZZ % XIGIAIZES Tatst SHAAE (B)
543,000,000 14 543,000
NETHZAALS 712,332 254,455 457,877
= 22,972
= 689,360
INESPN EAYNINR = BESFS) 22,972 131,065 108,003
= 22,972
201 Let=dy| 1,093 8,767 AT ,674
= 1,093
01 Attt 1,093 8,767 NT,674
OXHTHZAAIY F=X(24H])
1,093,000& * 14! 1,093
= 1,093
308 AXIHHSOIE 21,879 122,298 £100,419
= 21,879
13 SV 2S0CHetd & & 2 EF AL 21,879 122,298 /100,419
OXIHTHEAALY F=X(Z&HHI)
21,879,000& * 14 21,879
= 21,879
KIETHEAALY 2te] 689,360 123,390 565,970
201 €eH=gh| 36,200 19,550 16,650
01 At=2t2lH] 31,400 14,750 16,650
OXHB MF I 248
50,0002 1002 X|*27H 2 10,000
OFANZHARS L NEUEASIAS &4
=g 70,0003 +5& *432] 1,400
ONAH=XA FEHE & S|
200,000 *90& 18,000
OXI A=A EE228
2,500& *400H 1,000
OXNETHZA FULHS| 23|
1,000,000 * 14! 1,000
02 SE5=4H| 4,800 4,800 0
oREEs 22 400,000 =123 4,800
202 O4d| 2,160 3,840 21,680
01 =WHbl 2,160 3,840 21,680
ONHMEAL SN =72, ZHES & AA
=7 HEUE HEAS L3
20,0002 »3H 32| x 12 2,160
301 LEEES 651,000 100,000 551,000
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S BRI
HH: NHAY J|8rys
S KNIETHEAA (St M)
SA - ZE . GR(E) - NRARY - BaS ofl e T imEE
14 JIEI2 A2 651,000 100,000 551,000
OXIEMEA ZHZ(HEUAL)
651,000,0002 *14! 651,000
H™2AAI(GIIRA) 278,39 266,693 11,706
ol 2| 177,133 168,981 8,152
oI AH|(BItRIRA) 177,133 168,981 8,152
101 Q1244 177,133 168,981 8,152
RS 161,636 161,636 0
CENE=R
11,3192 342 +35A| 24+ 12 161,636
038 SRA(RIH) 22 L= 15,497 7,345 8,152
OASEIIY 22 4,418
OAlZtel4g
24,5432 1 E* 15412+ 12 4,418
OdxI22l 2LIEE 7,386
OAltel &g
20,5152 22 15A1 2+ 122 7,386
OsXHgss 22| 3.693
OAlZtel4g
20,5158 1 *15A1 2+ 12 3,693
Jl=Zl 101,266 97,712 3.554
Jl=2ZEI(50rel#A) 101,266 97,712 3.554
201 Yere A 46,986 46,632 354
01 A2l 43,986 46,632 N2,646
oget+gH| 24,120,00021%14] 24,120
o34l 15,120,002 *14{ 15,120
oYxtz 4,746,002 14! 4,746
02 IS 3,000 0 3.000
OXEEHIRXbI 3,000,000 3,000
202 04t 49,000 39,200 9,800
01 3LHoil 49,000 39,200 9,800
OY=RFA JI=0H
49,000,0002 %14} 49,000
203 PR 5,280 11,880 28,600
04 EA2IY2FA| 5,280 5,280 0
ORMEIARTA|
40,0008 * 1201 5,280
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